@ MAG600_Manual.pdf 1

_y
GAMEN

04/03/2022 09:04:20 a. m.

LIVE THE GAME

2 |
o
<C
o
@)
=
=
@)
>
()
=
>
<<
()

PRECAUCIONES Y ADVERTENCIAS

« Utilizar con productos de mayor peso al indicado en los limites de peso
podria ocasionar inestabilidad, dafios al equipo y posibles lesiones.

« Los soportes deben acoplarse tal como seindica en las instrucciones de
ensamble. .

« Utilice herramientas y equipo de seguridad adecuados.

« Asegirate de que la superficie de fijacion sostenga de manera segura el
peso total del equipo y todos sus componentes.

« Utiliza los tornillos de ensamble que vienen dentro del producto,
no apliques demasiada tension alos tornillos.

 Mantén las piezas fuera del alcance de los nifios.

« Utilizar este producto en exteriores podria ocasionar fallas en sus
componentes.

« Comprueba periodicamente que el soporte esté aseguradoyy listo para

usar (al menos cada 3 meses).

ESPECIFICACIONES TECNICAS

Material Metal

Clip 83mm

Inclinacion -45°/ 45°

Soporta Hasta 27" (6.5 Kg cada monitor)
VESA: 75/100mm

COMO ARMAR TU BRAZO

M6x10 (x2)
D

o

M6x12 (x3)
E

5mm (x1)
K

] { -

Mdx12 (x4) M6x12 (x4)
M-A M-B

Garantia limitada de productos

Los equipos y/0 accesorios Vorago estan cubiertos por una garantia limitada por el tiempo
indicado en la tabla de vigencia anexa, contando a partir de la fecha de adquisicion, contra
cualquier defecto de fabricacién y funcionamiento, siempre y cuando hayan sido utilizado
bajo condiciones normales de uso durante el periodo de lagarantiay para lo cual fue
fabricado. Vorago garantiza al comprador la ausencia de anomalias en lo referente a los
materiales.

Productos Vigencias
[Tablets, celulares, audio, teclados, mouse, redesy accesorios 12 Meses
Monitores

2 ara el cual solo serd de 12 meses. | 36 Meses

lisplay de par
[Equipos de computo 3 afos incluido Nanobay 3.
B i 6 e i 36 Meses«

12 meses.

Péliza de garantia Importante: Favor de leery llenar esta pdliza de garantia y sellarla en la
tienda en la compra del producto.

Producto: Brazo doble para monitor

Modelo: MAG600 Sello del di
Marca: Game G Factor

Nimero de serie:
Nimero de factura:
Fechade entrega:

Responsabilidades
. o

0 reemplazar: inclui y
refacciones, sin ning(i f
ia debi sellada por imi 0 copia del
oo factura, ificos del producto obj en
taurad; oreemplazar cualquier producto, sin
costo adici idor. En el i6 §
cambio por imilaro s iores. L fa cubre los gastos d

del producto. Er

Como obtener respaldo de la garantia

Los reclamos de garantia son procesados a través del punto de venta, durante los primeros
15 dias posteriores alacompra, siempre y cuando cumplan con los requisitos. Los reclamos
de garantfa que no puedan ser procesados a través del punto de ventay toda inquietud
relacionada con el producto adquirido deberan ser enviados con la guia prepagada por
Vorago a ladireccién de las oficinas centrales de Vorago en Francisco Villa No. 3, Col. San
Agustin, C.P. 45645, Tlajomulco de Z ifiiga, Jalisco, México.

Salvo en situaciones de fuerza mayor o caso fortuito, el tiempo de reparacion en ningdn
caso sera mayor a 30 dias naturales contados a partir de la fecha de recepcion del equipo en
Vorago.

Exclusiones

Esta garantia no es valida en los siguientes casos:

ac T P "

G e el "
9 e si C partede Vorago.

Vorago no ofrece ninguna otra garantia expresa para este producto.
Para hacer vélida la garantia, as como la adquisicion de partes, componentes, consumibles
Yy accesorios.

Para hacer valida una garantia debe de enviarnos la siguiente informacion al correo:
garantias@voragolive.com

1.-Modelo y color

2.- Falla de producto

3.- Ticket o factura de compra (digitalizado)

4.- Sudomicilio con C.P., teléfonoy nombre completo.

Disponibles en el establecimiento donde se adquirid el producto y/o en nuestras oficinas
centrales

Devoluciones
Enel caso de devolucion de productos solo serd el lugar de compra por el cliente final.
Sujeto a las politicas de devolucién establecidas por el mismo vendedor.

Vorago, S.A. de CV. Importadora Global Rida S.A. de CV.
Francisco Villa No. 3 Matilde Mérquez No. 68

Col.San Agustin, CR 45645 Colonia Pefion de los Bafios C.P. 15520
Tlajomulco de Zufiiga, Jalisco, México. Alcaldia Venustiano Carranza, CDMX
Tel. (33) 3044 6666 RFC:IGR1510164C2




A

2N

@ MAG600_Manual.pdf 2 04/03/2022 09:04:21 a. m.

CAUTION AND WARNINGS

« Use with products of greater weight than indicated in the weight limits
could cause instability and possible personal injury.

« Brackets must be attached as directed in the assembly instructions.

« Use proper tools and safety equipment.

« Make sure that the mounting surface securely supports the total weight of
the equipment and all its components.

« Use assembly screws that come inside the product. Do not apply too much
tension to the screws.

« Keep the parts out of the reach of children.

« Using this product outdoors could cause component failure.

« Periodically check that the support is secured and ready to use
(at least every 3 months).

TECHNICAL SPECIFICATIONS

Material Metal

Clip 83mm

Tild -45°/ 45°

Supports Upto 27" (14.33 Lb each monitor)
VESA: 75/100mm

HOW TO ASSEMBLE YOUR ARM

M6x10 (x2)
D

M6x12 (x3)
E

]

Max12 (xd)
M-A

Limited product warranty

Vi i and/ oracc ies are covered by a limited warranty forthe time
indicated in the annexed validity table, counting from the date of acquisition, against any
manufacturing and operation defect, provided they have been used under normal
conditions of use during the warranty period and for which it was manufactured. Vorago
guarantees the buyer the absence of anomalies regarding the materials.

Products Validity

PC, tablets, cell phones, audio, keyboards, mouse, network: i 12 Months

LCD Monitor

- Exceptin panel (screen display) for whichitwill only be 12 months. 36 Months*

(Computer equipment 3 years including Nanobay 3.

- Except computer equipment where the processoris integrated 36 Months *
itwill only be 12 months.

Warranty Important: Please read and complete this warranty policy and seal it in the store
when purchasing the product.

Product: Gaming Monitor Arm

Model: MAG600 Dealer stamp
Brand: Game G Factor
Serial number:
Invoice number:
Delivery date:

Responsibilities

The total responsibility of Vorago will be to repair or replace the product, including labor
and parts, at no cost to the buyer when it is returnedto the point of sale, presenting this
warranty policy properly completed and stamped by the establishment where it was
purchased. The product or copy of the receipt or receipt or invoice, in which data of the
product the date of purchase is specified, to verify the times within the guarantee. vorago
may use new parts, restored or used in good condition to repair or replace any product, at
no additional cost to the consumer. In the case of equipment and/ or accessories that can
not be repaired, the change will be generated by a similar product or with superior
characteristics. this guarantee covers the transportation expenses of the product derived
from its fulfillment; which will be directly attributable to the supplier of the product.

Inall replacement products, the original warranty period will be renewed. Vorago is

How to obtain warranty support

Guarantee claims are processed through the point of sale, during the first 15 days after the
purchase, as long as they meet the requirements. Guarantee claims that cannot be
processed through the point of sale and any concerns related to the product purchased
should be sent with the prepaid guide by Vorago to the address of the Vorago headquarters
inFrancisco Villa No. 3, Col. San Agustin, CP 45645, Tlajomulco de Z(iiga, Jalisco, Mexico.
Except in situations of force majeure or fortuitous event, the repair time inno case will be
greater than 30 calendar days from the date of receive of the equipment in Vorago.

Exclusions
This guarantee is not valid in the following cases:
a) Whenthe product had beenused n conditions otherthan normal.
hasnot i iththe instructions for use instructios of use.
s paired by i Vorago.

Vorago does not offer any other express warranty for this product.
Tomake the guarantee valid, as well as the acquisition of parts, components, consumables
and accessories

Tovalidate a guarantee, the following information must be sent to the email:
garantias@voragolive.com

1.- Model and color

2.- Product failure

3.-Ticket or purchase invoice (digitized)

4.~Your address with CP, telephone and full Name.

Availableinthe establishment where the product was purchased and / or in our central
offices:

Returns
Inthe case of product return, it will only be the place of purchase by the end customer.
Subject to the return policies established by the same seller.

Vorago, S.A.de CV. Importadora Global Rida S.A. de C\V.
FranciscoVilla No. 3 Matilde Marquez No. 68

Col. San Agustin, C.P. 45645 Colonia Pefién de los Bafios C.P. 15520
Tlajomulco de Ziiiga, Jalisco, México. Alcaldia Venustiano Carranza, CDMX
Tel. (33) 3044 6666 RFC:IGR1510164C2

Teinvitamos a registrar tu producto y gozar de los beneficios, registra tu
compra en nuestra pagina web y participa de las promociones en:

We invite you to register your product and enjoy the benefits. Register your
purchase on our website and participate in promotions at:

www.gamefactor.mx
f»oD

Queremos escucharte We want to hear you
Q3) ‘?;OTA[M ’?566 f‘?% (33) 3044 6666
GMUNICA CALLUS




